Chaconne

Henry Purcell (1659-1695)

=
— a9 ?
A% < 2 0 2
B—* 3 2 0
3 1 0~ 0
| répéter 14 fois
(basse obstinée)
4 O O W S I T e O O Y ||
(A 0 : . 0 0- 5—5
= " " —0—1—3—0 1 1—1—23
T E— —— — 3 00130 1—1—3 3
g 2
(S Y N O O MO O | I o O I R
T 1—0 —0 0—1 — 0—0—1—3—0J—1—1—3—]
X - 2 2 1 ¥ 2
B 2 T
=4
| P_ | A T O S Y S o A O O | I A1
T 3 0——1—1 0—0 1—0 - 1 1—0——0-1-3-]
I 4 2—2 2 1=
B

o
=
-
o
o
-
o

31
[
~
)

|
|
a

W

<
<

1
[
w
I
s
T
[
-
o
-
o ||—

>

=)
>
-
|
a
=)
w

|| A | LA s

HF————1——1—0—0-1-3—1—3—1

°
o
-
|
EN
©
w

M1 M

| b M AmE M) n
oJ-1—-0—o0—1—31—3—1-0—1 0—1—3— — 3— o0]-1-3—3—1—]
2 1—2 x 2 —2 2]

g

W

I

o

N

o |—
>

o

o
a
o
c
a
I
©

3—1—0—1 0—1-3
1 2

N
|
a
|
T
[
N
a
N
~e
|
[

N

wp-




o—
o—

o
-
[

1
1A
1
1
L1

z 0—0 15 z 3—1 + = 2 3—1 -
B
0 0 Y PO\ T L am
T —3——0--1—3——3—1 0—o0 T —3—1—0
x 2 212 ¢ 211 -
B

elnlislslisisEsisislll hl‘| NN NFEFE L

0 0—3—1—0 0 > 0—1—3—0—F1—3— 5—3—5—3—5—3—3 5

5

wpH-
N
N
|
a
|
T
|
N
|
|
a
S
a
|
|
N
N

oMM L b1 MMM

1
1
1A
T4
:I
:I
1
l
1

T 3 0 =0 3—1 0—3—1—0 0 1 0 0—1—3—0—
A & 2 2_1_2T1_2__1 " 1 >4 1—+—2 2 2

B

\

57

b R e e e Y O O O M M
T - 0 3—1—0—1—1—3—1—0 0 3 -

yiy - 2 1 2 > 1—2—2 1—
B

A F L [ P
_T—1_3_5_3_5_3_5_3T3
YAy 5

R

1=}

o

0 3—1—0—1—-1—3—1—0 0

&

T 0 1 3 0 1 0 0 0—1—3 0 1
A2 03 Ld i Ed 23 22 2
D T € T T
Ly

L Lb P b I N R NN =N
- 0 0 o o —
T 3 PR P Y - 3 1 T 3—o0 3 — S 0—1
[w]
=)

\
oQo—
N—
e d

v g
v g

o
<
«
|
|
«w
-
-
|
-
o—

o

hew d

-
w—

o
-
w
o
-
=

N

S
N

i
1
|
]
1
1
1
I

=
-]
o—
-
w
o
N
=)
=
=]
-]
|—=—=—=—=

+
ONN




	Diapo 1
	Diapo 2

